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22 8 40.98 5.25 7.88 6.89 32.12 0.80Q 6.08 309 33.2 3.7 63.]] 11,05(
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24 11 5210 3.80 21.90 1150 990 030 05d 125 376 44 584 9,984
25 2 50.00 10.90 18.1Q0 7.40 10.20 1.50 1.9Q 121 46.3 4.7, 49.0 8,067
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2-6-3 o= o 9 fi =0

() (
kg ) (kJ/kg)
22 5 63.1 8.7 16.4 9.4 0.8 1.6 138 40.8 10.1  49.] 8,200
22 8 53.2 14.3 8.6 23.2 0.2 0.5 156 41.3 10.5 48.2 8,044
22 11 62.3 7.9 18.4 9.1 0.1 2.2 146 47.1 8.9 4440 7,120
23 2 64.7 6.8 14.1 10.2 0.0 4.2 115 46.4 9.6, 440 7,120
23 5 52.3 6.5 28.9 11.7 0.0 0.6 137 41.0 9.7 49.3 8,250
23 8 61.9 11.2 9.0 16.6 0.1 1.2 136 515 8.4 40. 6,280
23 11 64.0 11.2 8.0 14.5 0.3 2.0 152 41.1 10.3 48.6 8,120
24 2 58.3 11.9 10.8 16.8 0.2 2.3 153 44.1 10.0 459 7,530
24 5 54.1 10.7 23.9 10.0 0.0 1.3 167 55.6 7.1 373 5,610
24 8 54.2 11.5 16.1 14.9 0.0 3.3 173 54.3 4.4 413 6,400
24 11 68.3 9.3 4.5 17.1 0.0 0.9 173 50.8 4.3 449 7,200
25 2 65.4 12.4 4.2 15.2 0.9 1.9 143 40.6 7.3 52.1 8,790
25 5 47.9 18.1 7.9 23.3 1.8 1.4 162 39.1] 125 484 8,120
25 8 49.2 11.0 15.4 23.5 0.1 0.9 206 52.2 4.7 431 6,82(
25 11 55.4 9.1 17.7 14.3 0.5 3.0 139 37.3 7.2 55.9 9,500
26 2 67.2 7.4 1.5 19.5 0.8 3.6 200 39.9 7.5 52.6 8,92(
26 5 61.3 9.1 10.3 13.9 0.8 4.9 171 46.4 7.2 46.4 7,580
26 8 48.8 12.2 15.9 19.3 1.7 2.1 166 51.9 7.4  40.7 6,360
26 11 59.3 6.8 13.4 12.5 0.6 7.4 181 41.7 9.7 48.9 8,120
27 2 61.2 9.9 10.9 13.1 1.9 3.0 192 48.5 8.4 43.1 6,910
58.6 10.3 12.8 154 0.5 2.4 160) 45.6 8.3 46.2 7,550
68.3 18.1 28.9 23.5 1.9 7.4 206 55.6 12.5 555 9,500
47.9 6.5 1.5 9.1 0.0 0.5 115 37.3 43 373 5,610
] 6.4 2.8 6.7 4.5 0.6 1.7 23 5.6 2.2 4.9 997
b —
— | 7,550kJ/kg # Nef v ks | 4 & o7 — <A
d
R | » 90 S I P
o7 — 7,550 1.645x 997 5,910kJ/kg
o — 7,550 1.645x 997 9,190kJ/kg
td v — | 155 #No s Y MO — % ™
L — 4 _ d
I - %t seeq %ooovqde
3 Vs - |  2-6-3—< 2 % 1 %D % |Fd e
AL L =
3,000kJ/kg & 4 % |k =™
/ L #8 — 5,610kJ/kg 4L o — < o8 — 9,500kJ/kg 4
o7 — <A =V - < — | 169 #No & 25
JL LJ
= % {v ke 0 - < 4 g
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5,610kJ/kg
7, 550kJ/kg
9, 500kJ/kg
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2-6-3 — ¢fi 24D
C —_—
- | <l ofivfiads — g
- -4 aqe
n 0.0014 48.225
fadi ok 0.0003 12.473
n nT 0.0019 26.857
0.0004 12.362
0.0001 0.2141
d —
| 8 <l ofi ¥fiads< — #s <
- aqe
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| 8 <l ofi ¥fiads< — #s < —
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<
¢fi 40 —oq —e LS < |  2-6-4—< %4
rald e
2-6-4 — fi 4D
kd/ kg 5,610 7,550 9,504
56.1 58.6 61.5
10.8 10.3 9.6
16.2 12.8 8.8
14.6 15.4 16.2
0.3 0.5 0.7
2.0 2.4 3.2
100.0 100.0 100.q
n ~=™=|8 < 4 g < o= o=2%d 8 — |0
dL 1= =z < ofi ¥fi ad<
- — L m=e ¢fiadz— < L 1 Ve
R ¢fi 240 — o | & 2-6-5—< %4 tq Vo
2-6-5 o1 - -1 - ¢ fi =00
kd/ kg 5,610 7,550 9,504
48.5 50.6 53.2
7.6 8.0 8.3
10.8 10.3 9.6
16.2 12.8 8.8
14.6 15.4 16.2
0.3 0.5 0.7
2.0 2.4 3.2
100.0 100.0 100.q
kg 198 160 122
56.2 45.6 35.9
6.6 8.3 9.3
37.2 46.1 55.1
100.0 100.0 100.q
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<
a o7
22 26~ %1 o F— o= o7
| & 2-66—<2q # Nef| ¢
2' 6‘6 4—)'" - <—>'|'| 4_)-"
() (
kg ) (kJd/kg)
22 4 43.80 15.10 8.30 20.20 7.90 2.10 2.6Pp 180 44.5 5.4 50.1 8,32(
22 6 45.80 12.80 8.40 8.60 17.80 0.60 6.00 216 43.0 5.7 513 8,58(
22 10 29.20 5.80 21.9Q 9.40 29.20 1.00 3.40 222 51.3 5.0 43.7 6,940
22 12 53.50 10.7Q 7.20 10.90 12.2Q 2.90 2.70 192 48.5 6.7 448 7,220
23 4 49.87 9.20 9.94 9.41 15.78 0.63 5.19 159 44.2 6.5 49.3 8,18(
23 6 53.07 2.96 13.1 11.82 15.2Q 0.02 3.77 207 46.9 6.8 46.3 7,540
23 10 53.3] 8.13 9.03 16.11 9.79 0.13 3.51 176 56.0 4.9 39.1 5,960
23 12 49.37 4.3 8.77 10.41 14.41 2.78 9.94 217 58.2 7.4 344 5,020
24 4 44.20 12,509 1290 16.30 9.60 3.30 1.19 178 45.1 5.5 494 8,17¢
24 6 50.20 7.80 12.30 17.8Q 9.40 1.20 1.2¢ 184 46.3 4.7, 49.0 8,110
24 10 44.20 1.70 15.79 15.30 10.8Q 7.80 4.60 178 46.9 8.5 44.9 7,230
24 12 53.70 5.10 13.60 8.90 9.70 7.00 1.80 172 50.3 7.3 424 6,720
25 4 52.27 8.29 16.3Q 5.60 9.90 3.4] 4.30 48.2 6.8 45.0 7,264
25 6 44.69 3.26 21.30 21.7Q 3.60 0.40 5.00 51.0 7.8  41.2 6,480
25 10 36.07 5.44 18.82 8.90 17.6Q 4.40 8.80 48.7 8.5 4278 6,840
25 12 54.27 7.39 14.18 6.30 10.70 4.20 3.00 51.5 6.6 419 6,599
26 4 38.30 7.50 7.80 12.80 20.4Q 7.40 5.70 235 55.5 7.6  36.9 5,560
26 6 37.80 16.00 17.40 11.3Q 11.3Q 3.70 2.40 194 50.1 8.0 419 6,630
26 10 54.30 4.70 8.80 9.40 21.30 0.40 1.2¢ 165 54.6 5.6 39.8 6,130
26 12 44.40 10.6Q 8.10 9.50 20.80 4.30 2.1Q 227 60.5 5.5 34.0 4,890
46.62 7.9 12.7Q 12.03 13.87 2.88 3.97 194 50.1 6.5 434 6,919
5430 16.00 21.90 21.7Q 29.2Q 7.80 9.94 235 60.5 8.5 51.3 8,58(
29.20 1.70 7.20 5.60 3.60 0.02 1.19 159 43.0 4.7 34.0 4,890
a 7.09 4.0] 4.64 4.45 5.96 2.45 2.39 24 4.8 1.2 5.0 1,064
25 — 8 Y fJI = ™Mp Mo
b —
dl L
— | 6,919kJ/kg # Nef v ks y 4 & o — <A
— _ < 2 J
R | = o0 e —swd 4
o7 = 6,919 1.645x 1,064 5,169kJ/kg
o7 = 6,919 1.645x 1,064 8,669kJ/kg
Y — | 168 #Ne s Y MO 3 V8 —
Ld =
264-<%f . o % ="
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4,890kJ/kg | & 90 4 L o — 8,580kJ/kg | ®
90 4 L m™v Ls < — AL
AL <%z %0
/ L #8 — 4,890kJ/kg 4L o7 — < o8 — 8,580kJ/kg 4
o7 — <A =V - < — | 175 #£NH & 25
Loso  Jvie o — < s ]"
14,000
12,000
10,000
90
g oo \/’/A\\_ /L :\'\0/.\./‘-\0\
2 6,000 ~/ e
L J
4,000 %0
2,000
0
T e g 8§ ¥ e g gy ¥ e g gy ¥ e gy v o gy
N N ™ ™ < < n n © ©
NNy g NN g g YN FyNNgg NNy
2-6-4 — o1
C —_—
| 8 <l ofivfiads — g

0.0003 44.872

0.0012 0.4694

f a2 ok 0.0004 10.196
n Nl 0.0008 6.5956
0.0014 23.798

0.0007 7.3961

d —
| ® <iofigfiads  — g <
- SRS
0 %8 —¢D |8 25 % td =™ ™Y Es 22
24 < 26 —4 —eDdad ™= Al e

0.0084 252.48
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| & <l ofivfiads  — g < —
H o
0.0044 80.846
0.0047 10.811
foeq = <
v e |0 oze7-swmd ]
2-6-7 o7 e - e
kd/ kg 4,890 6,919 8,580
46.3 46.6 47.4
5.4 8.0 9.8
12.2 12.7 13.4
105 12.0 13.5
17.0 13.9 11.4
4.0 2.9 1.4
4.6 3.9 2.5
100.0 100.0 100.0
kg 233 194 154
59.3 50.1 43.1
6.9 6.5 5.8
33.8 43.4 51.1
100.0 100.0 100.
() gfi 24D
a o7
22 26~ %t $fi 4D #— o7 — 7

2-6-8—< %9 # Nef| ©
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2-6-8

gfi 24D

() (
kg ) (kJ/kg)
22 4 50.50 11.08 12.07 11.09 1.03 5.23 243 55.7 5.8 38.5 5,850
22 7 62.16 10.16 14.90 8.40 0.43 3.95 254 54.2 4.6 41.7 6,400
22 10 52.19 10.49 4.83 25.77 0.24 6.48 271 55.2 4.1  40.1 6,280
23 1 60.16  11.87 4.89 14.84 1.41 6.83 197 50.8 7.7 419 6,540
23 4 54.3§ 14.49 9.78 14.57 1.96 4.82 226 52.1 6.9 414 6,410
23 7 59.33 14.23 11.27 10.90 1.12 3.158 240 55.0 5.3 39.9 6,100
23 10 58.25 18.35 9.72 8.66 1.94 3.08 173 43.7 7.7 48.4 8,060
24 1 60.25 10.82 8.61 14.44 0.72 5.19 187 48.2 6.4 454 7,340
24 4 40.8§ 13.61] 10.65 27.92 4.73 2.2 225 52.8 8.7 38.5 5,930
24 7 57.30 10.35 6.92 24.27 0.02 1.14 151 55.5 5.6 3849 5,930
24 10 65.34 16.93 7.95 8.07 0.45 1.29 163 47.1 6.4 46.9 7,580
25 1 60.81 9.59 1255 14.98 0.38 1.69 160 33.2 8.0 584 10,20(
25 65.19 14.14 9.16 3.2§ 6.59 1.67 113 34.5 9.1 564 9,760
25 7 64.96 7.98 9.1 16.26 0.23 1.41 202 46.7 4.5  48.9 8,020
25 10 60.85 11.39 1255 12.19 0.7§ 2.27 173 49.9 5.1 454 7,220
26 1 55.95 4.29 13.12 24.47 0.28 1.89 219 54.5 4.2 41.3 6,410
26 4 49.61] 21.35 3.06 23.18 0.59 2.2] 136 41.6 55 529 8,920
26 7 54.56 20.24 7.39 13.25 2.07 2.49 159 49.4 6.4 44.2 7,090
26 10 56.27 19.08 5.10 15.78 0.71 3.09 154 31.7 122 56.] 9,770
27 1 65.21 12.27 6.36 12.47 1.20 2.49 178 46.0 7.6 464 7,590
58.16 13.14 9.00 15.24 1.34 3.12 191 47.9 6.6 45.9 7,370
65.34 21.35 1490 27.92 6.59 6.83 271 55.7 122 58.§ 10,20
40.88 4.29 3.06 3.2§ 0.02 1.14 113 31.7 4.1 38.5 5,850
] 5.99 4.32 3.21 6.67 1.62 1.73 43 7.6 2.0 6.3 1,377
b —
— | 7,370kJ/kg # Nef| v ks 1 &L L4 - <A
d
c1S em— |+ 90 - o—smd 4o
o — 7,370 1.645x 1,371 5,115kJ/k
T g
o7 — 7,370 1.645x 1,371 9,625kJ/kg
td v — | 188 #No s Y% ™Mo g Ve —
2-6-5—< 29 Assles % %9 o Y% |kd =™
- 5,850kJ/kg | & 90 4 L o -
10,200kJ/kg | & 90 4 L m™v ks < |
— L A-” | £ %# 5’8-"9
/ L #8 — 5,850kJ/kg 4L < -8 — 10,200kJ/kg 4

25

(—P'n_



o — <A <V — < — | 174 #Nef® 25

Lowo vk o = < abde
o = 5,850kJ/kg
o7 = 7,370kJ/kg
o7 = 10,200kJ/kg
12,000
10,000
8,000
2 6,000 |-
2
= 4,000 90
2,000
0
N N ™ [9¢] ™ < < < Te] Yol Te] © © © N~
N N N N ™ N N < [a\] [a\] N [Te} N N © N
N N N N N
2-6-5 — v fi 240
C —_—
- | <iofigfiads - g
< - -4 aqc
n 0.0012 49.094
A 0.0011 5.3677
n Nl 0.0005 12.678
0.0015 26.159
0.0002 0.0506
d —
| 8 <l ofi vfiancs -  #s8 <
- -4 aqc
0.0223 355.66
e p—
| 8 <iofivfiads — g < —
- aqe
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0.0054 87.721
0.0046 11.589
e H e
¢fiad — o —eLs < 2-6-9—< %4
d
rq e
2-6-9 — ¢fi =D
kd/ kg 5,850 7,370 10,204
56.11 58.16 61.33
11.80 13.14 16.59
9.75 9.00 7.58
17.38 15.24 10.86
1.12 1.34 1.99
3.84 3.12 1.6
100.00 100.00 100.04
n ~=™=|8 < 4 g < o= o=2%d 8 2|1
1L 1= e= ™9 | | 2|8 <P ofi ¥fi A0
o7 — L m=s ¥fiadz— < P e
R Yfi 40 — o | & 2-6-10—< % 1 Vo
2-6-10 o7 - -7 - ¢ fi 242
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